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S1 Fig. Bronchodilator response, according to hsa-miR-196a2 alleles in COPD patients. Data are
represented as medians. The box defines upper and lower quartiles (25% and 75%, respectively) and the error
bars indicate upper and lower adjacent limits. Mann-Whitney test was used. BDRABS absolute change in
forced expiratory volume in the first second (FEV1), BDRPRED change in FEV1 as a percent of predicted
FEV1, BDRBASE change in FEV1 as a percent of baseline FEV1, all calculations have been explained in
detail in the text.
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